fori:=0,....m—1
for j:=0,...,n—1
for p:=0,....k—1
Yij = ipBpj+Yij ¢ & =a B+ ¢
end
end

end

Blocked matrix-matrix multiplication

mp=| | np=| | andkp=

fori:=0,....m—1
for p:=0,...,k—1
for j:=0,...,n—1
Yij = ipBpj+Yij ¢ & =a B+ ¢l
end
end

end

~T ~T
€o ap
+:= . B
~T ~T
Cm—1 A1

for j:=0,...,n—1
fori:=0,..., m—1
for p:=0,...,k—1

Yij =% pPpjt+Yij ¢ i =Abj+ cj
end
end (co-[ens ) +=a (0] bur )
end
for j:=0,...,n—1
for p:=0,...,k—1
fori:=0,....m—1 mb—D,nb:D.andkb—D
’Yi,]' = ai.po,j+’Yi.j Cj :Ab]+ Cj
end
end (C()’ Cn—1 )+::A ( bO’ bn-1 )
end

for p:=0,...,k—1
fori:=0,....m—1
for j:=0,...,n—1

Yij =B +%j ¢ C:=C+ apb}, by
end . ;
end C+'=(a0|'”|a‘—')
end bl |
for p:=0,....k—1
for j:=0 ne1 mb:D,nbzm,andkbzlj:
fori:=0,....m—1 _ _
Yij =By +Yj ¢ C:=C+ ayb} b§

end
end

end




